St. Mary’s School, Dwarka
Class VIII
Holiday Homework

Subject - English

Worksheet 1

Q1. The following passage has not been edited. There is one error in each line against which there is

Q2.

o

a blank. Write the incorrect word and the correction in the given space: (*2x8=14)
Incorrect Correct
When | return home from school, | found that a)
my mother were in kitchen and my younger b)
sister was playing with her friends on the veranda. C)
In my room, all the book were lying scattered d)
on the floor. I am definitely very annoyed. e)
| asked my sister if she had enter my room. f)

She answered that she was looking for some

colourful pictures for her scrap file. She search 4)]
through the books and they fall down one by one. h)
Rearrange the following words and phrases to form meaningful sentences. (1x5=5)

undoubtedly/ colourful birds/ parrots are/ the most/ earth / found / on

more than/ found/ have been/ 350 types of parrots/ till now

smart / also / stunning/ are / for being/ not only/ but / they / famous / are

best pets / because / the only animal species / they are / that can talk / make the/ they

birds have /these fascinating / to humans / their emotions / in expressing / no qualms




Q3.

Read the following situation and frame appropriate questions: (1 x5=b)
Your friend has recently taken admission at a residential school in Shimla. Prepare a set of five questions

asking him / her about the school using the following hints.

a) name of the school

b) location of the school

c) distance from Delhi

d) school strength

e) whether most of the students are from the neighbouring states

Q4. Fill in the blanks with the correct form of the words given in the brackets: (*2x6=23)
I (a) (feel) very sorry to see the pathetic condition of the slums. Children (b) (be)
shabbily dressed and were running all over the place. A small girl (c) (eat) a banana.
She (d) (get) it from her father. Her father (e) (be) a poor labourer and
the mother always (f) (remain)sick.

Q5. Fill in the blanks with suitable words: (*2x6=23)
I’'m hungry () there isn’t any food in the kitchen. I want milk, cereals (b)
orange juice. | went to the shop (c) it was close. | came home. There was some grapefruit
juice (d) brown bread. I don’t like (e) grapefruit juice (f) brown

bread. So, | went to sleep till the shop opened.




Worksheet 2

Q1.The following passage has not been edited. There is one error in each line .Write the incorrect word

and the correction in the given space: (*2x8=14)
Incorrect Correct
In some parts of India, there is places a)
where no one killed a wild b)
animal. Such places are call reserve forests. C)
People can goes there to see the animals. d)
There is one such place at Assam. The e)
jungle in such places is vary thick. The f)
tourists has to ride on elephants to spot the animals. 9)
Riding on an elephant is like been on a ship h)
Q2. Rearrange the following words and phrases to form meaningful sentences. (1x5=5)

a. watermelon / thirst quenchers / in summers / is / one of the best.

b. around/itis/ 96 countries / cultivated in / the world.

c. in Africa/about 5000 years /grown /ago / it was / first.

d. say that/at the / it was grown / some researchers / same time / in India.

e. travellers/ eaten by /it was / when they / across a desert / travelled

Q3. Read the following situation and frame appropriate questions: (1 x5=b)

You are Mahesh/Mabhita. You get an opportunity to meet an internationally famous chef at a food
festival you recently attended. Prepare a set of five questions that you will ask him/her based on the

hints given below:-

a. age/started




b. best dish ever cooked

c. countries travelled

d. specializesin

e.  inspiration

Q4. Fill in the blanks with suitable words : (*2x6=3)
Jim was walking (a) the campus (b) __ noon, when he met a friend whom he had not
seen (c) summer. They stopped (d) of the gymnasium. After they had talked
(e) about ten minutes, Jim said, “I must go (f) ___ Jefferson Hall this semester. Why don’t

you drop by some afternoon after the classes?”

Q5. Fill in the blanks with the correct form of the words given in the brackets: (2x6=23)

A tornado is caused when a “front” (a) (form) between a cold air and warm air mass.

Sometimes a cold air mass (b) (move) in above the warm air. The hot air rises. It spins.

Then it (¢) (form) a funnel-shaped cloud — a tornado. Weather experts (d) (look)
for these conditions. The winds inside a tornado may reach five hundred miles per hour. Sometimes a

tornado (e) (touch) the ground and (f) ( destroy) everything in its way.




Worksheet 3

Q1.The following passage has not been edited. There is one error in each line against which there is

a blank. Write the incorrect word and the correction in the given space: (2x8=14)
Incorrect Correct
Bangladesh has introduced a policy a)
to protect it’s capital city Dhaka from b)
recurring floods and high tides.
The policy had bans construction work C)
in the low-lying farmland adjacent for rivers d)
what absorbs extra water during floods e)
and high tides. The policy received flak at f)
the real estate firms which have invested 9)
millions of dollars in these areas. h)
Q2. Rearrange the following words and phrases to form meaningful sentences. (1x5=5)
a. Eastern Australia / in the/ of /are found / koalas / eucalyptus forests
b. water supply / they get / they eat / from / all their / the leaves
c. koalas /trees /are in/in/inhabited by / places /of these / leaves / high demand
d. one group / it takes / to support / several acres / of koalas / of trees
e. can eat / every day / each / one and a half kilograms / adult Koala / up to / of leaves
Q3. Read the following situation and frame appropriate questions: (1 x5=b)

a.

b

You are Arvind /Amita, a journalist working for ‘The Times of India.” A few hours ago many

people were killed and several were critically injured in a massive accident. You get an opportunity to

talk to one of the survivors. Prepare a set of five questions that you will ask the person using the hints

given below:-

time of the accident

. place of the accident




c. cause of the accident

d. casualities

€. rescue operations

Q4. Fill in the blanks with the most appropriate words:

(Y2x 6 =3)

Many folk dances are performed (a) ordinary people rather (b) by professional
dancers. It is (c) common to see that on special occasions (d) villagers
gather to sing and dance. Sometimes folk dances (e) _ performed by the professionals.
Professional musicians, actors and dancers travel (f) village to village (g)

this purpose.

Q5. Fill in the blanks with suitable words: (*2x6=23)
The Electricity Board office has warned that they (a) cut the electricity connection
if I don’t pay the bill by today. So I (b) go to the Electricity Board office to pay the
bill. 1(c) have paid the amount yesterday but the office was closed.

I(d) finish my work immediately and rush to the office so that I () pay the
bill before 2 p.m. | (f) be late, so | must leave immediately.




Worksheet 4

Q1.The following passage has not been edited. There is one error in each line. Write the incorrect word

and the correction in the given space: (Y2x8=4)
Incorrect Correct
One day, my six year-older sister a)
asked us which career she should opt for. Mine b)
father suggest that she should become a doctor C)
while my mother feels she could be a d)
reporter. | felt she make a finer e)
teacher. From a moment of silence, my sister f)
declare, “I should become an actress. 9)
I can then play each of this roles.” h)
Q2. Rearrange the following words and phrases to form meaningful sentences. (1x5=5)

a. broken / must/a promise /be / never

(o3

. disappointment /to / lead / broken/and / sorrow / promises

c. and/ his /word /thoughtful / keeps / is/ always/ gentleman / a true

d. make a /to keep / and hasten / promise / it / will be /he / slow to

@

friendship / a/ you/ broken/ cost/ promise/ your/ can

Q3. Read the following situation and frame appropriate questions: (1 x5=b)

You are Mahesh/Mabhita. You were given the task of interviewing the student of your school who had

won a gold medal in English Olympiad organized by the SOF. Prepare a set of five questions you would
like to ask him/her based on the hints given below.

a. feeling after winning




b. preparation

c. tips that you would like to give others

d prize money

e. celebration with the family

Q4. Write a synonym for each of the listed words and use them in sentences of your own: (%2 x 6 = 3)

a. harmony

b. haughty

c. advice

d. dismal

e. talent

f. eager

ol

. Fill in the blanks with the correct form of the words given in the bracket: (*2x6=23)

Q

A book is a person’s (a) (good) friend. | am reading a book that is very

(b) (interesting) but the book that | read last week was (c)

(good). It contained (d) ( beautiful) pictures than the other books I
have read. It even had an(e) (attractive) cover. Surprisingly it was

() (cheap) than I thought it would be.




Experiential Activities

1. “To travel is to live. Travelling makes you modest, you see what a small part of the

world you occupy. We all hope to travel again and explore the world.’

You have recently read the poem ‘Goody for Our Side and Your Side Too.’ Based on the poem,
find out the dream destination of your family members. Make a presentation to take them for virtual
tour of the place they want to visit.(approximately 10 -12 slides) Make your presentation interesting

by using attractive pictures, videos and music.

2. ‘It was great that they felt they were doing something to help. But sometimes they were

too keen and too clumsy.’

You have read that Home Guard soldiers were too keen and clumsy. Based on the lesson ‘Dad’s
Barmy Army’ by Terry Deary, find Home Guard facts online and write any five that you like the
best in your English notebook.

3. Read any one of the adventures from your Supplementary Reader ‘The Last Bow’ by Arthur
Canon Doyle and write a review. Use the following guidelines while writing your review in

your notebook.

a) Title
b) Author
c) Synopsis
d) Interesting points about the plot- ( You may use the following hints)
e What was the story about?
e Who were the main characters?
e What did the main characters do in the story?
e What kind of challenges did the main characters run into?
e Did the main characters have any adventures?
e Who was your favourite character? Why?
e) Your opinion
e Did you like the story?
e What was your favorite part of the story?
e If you could change something in the story, what would it be?
f) Your recommendation

e Would you recommend this book to another person? Why?




4. You enjoyed reading the play ‘Rappaccini’s Daughter’ by Nathaniel Hawthorne. Pick any scene
of your choice and make a cartoon strip. You may refer to the cartoon strip given below.

ARCHIE, I'M AFRAIC YOU'LL
HAVE TO TAKE SUMMER
SCHOOL.
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Subject-Hindi

1 w18t ueeit & Icax smefl IcR-yfeas: @ fAfwe |
2 o ¥aTe , YQY vd WK ord | difbe |

3 afdfafeleit & wu 9 foe ufReisen orf @ sigeia siffstit @ difs wuse gon wnfae |
Fd o ® del wenEe gEeed vd wacedl ®f vy &Ier v |

Worksheet — 1

afafafd — ‘& siiz I oRar fwr w wa<fda ofdar Jema ge sl qose |

nee 1 31fdd e @ ugpe Gea uesll @ 3caxw dfste— (2x5=10)
urdilel a1 Bl a1d ¢ | e Uiy demel o | 3wd At ggd fagare & | s ar
Jogiel 3mel forelt @) uxlen cleft =ndl | 3ogial wefl foreil @ aeemer @ wreror 9
volia foer s 3ot ®e1, ? foa eoeil! da god el v favly wisE @ garn
€ | AR WeIe U TR 31 d18 ¢ | Xl woen fdas Ao &l 9 € 3ilw faae o &
fole 3R ura v gel ol € | et o o1l sm e @ f 4 aon ow | g
facaefl 316l geme die), & 3Mua A-Uar A ool Hiel ¢Idal | 31 37 I afeiom &
=Y 3 wdlwre o cifstean | srarRt didl, o1l wedn € fb e gel al o 31silue
difoTbe o1dl | a1 5w gmle on3il fo fowdft ®f var oft o @l 3w wrer oft & =me |
s diwl oid oft & sieen siiw et oft = st |

1 IrEmel fdd wed & (qedd @ R o 8 7

2 3R] @t oo wereRn efi?

3 Bl o A © AT DI &cl [da UblE Uble b’

4 3 A el ol @ fele @ 3urr adrn?

5 w9 3T forer el @ aof fose @ifse |

ueel 2 3Mfea SR ) Ut A yeel @ 3mw dfsie— (2x5=10)
R | ufedd do el
forem! uda-atmet ¢ |
Idl fedrer 3l 3cavw,
HIAT I T=adIeT ¢ |
fear @1 qme ofter wr uxar,

3RSl = dId Dl |
ol @l wafola feowol 3,
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SE®I 51910191 &Y foiwged | |
®ol-Mel g6d feisie olel
S¥ldl 319Id Siell ¢ |

1 fEdrere o1 wawy o € 3w a=i’

9 feder o 3mel faw ue @ uge wwar &7

3 gzd & ufgad aw o bett 87

1 ‘BarcrI e & <l yaferard! fGifRae |

5 ZdfSiel d 319d 2l @ qul facde @i |

Worksheet — 2

afdfafi— ‘cira ot gfgei ' fadber -fder woel o fAeich &7 3e1 woedl @ e

JAetfest/aiae) 3 sifea i |
y2st 1 3fda el cara Raa <ot ot qfd difse —

130 = § W a 30 § 3
231 of 3 & 3 dq 3
3qQ 3 A o 31 ® M A 3 A 3
el 8 fAsafafda aa=il 3 A @ en e sifce —
1 T 2] ST @ |
2 auf srq A A el & Sar ¢ |
3 el gay @ fole daw € |
yreat 4 fAsafafea o=t o wifeer 3t aafae
aw , dr , o, A
neet 5 fAefafaa we o) yfeser o acfae —
deft , fagft, smerewd , wofeast
et 6 fAsfafda st o el ¢ fafte —
16, 27, 19, 28
nee 7 fAwefafaa Jgead @ 3 foaee aael 3 geiler ifse—
1 31chel dRel Siletl |

2 3ifdl i ¢feT sitapet |

12

(1x4=4)

(1x3=3)

(1x3=3)

(1x2=2)

(1x2=2)

(1/2x4=2)

(1x2=2)




yree1 8 fAsfaffa dAeifade @ sref fAaet aa=i d w=ier alifse— (1x2=2)
1 S 8¢ ¢ 3 & o |
2 31 dc1 I AR |
Worksheet — 3

alfafafd — sme) wfeidl & o1 fAee e fQaven uoe oea ge suel smant /faash @
&8 Sladid ®! wWaie ® wy 9 fafke |
ueell ® Jcaw dfsie — (2x8=16)

1 ‘T3 B} a1 UG 3 dRap B [Boi-fdel wRenfal ol ARl Bl Usl /3 ufdar
& 7Rl ®l 915 fdell g A= o1 duid sifse |

2 ‘darclt & sl ®fdar & sfiaar i F=dl D =aer 7Ed B gId B! IS & | 3w
uffarR @ el fdas 9 fo=l e vcer o1 aufa sifsie |

3 ©d Uwcols gelse 3w 31ua [Tarstl/dArdst ©f 3ad sedfcer ©f aers dd §e U
foife |

4 317 31 fdegrerer &3 &1 , fadr e &3 &I ,cIal-aIdl ® 26w a1 dild &I fusl
®Is d.fcifae 3fiw ge &3 BI BIs 31c191 Tl il ¢ | adise |

5 dfifeiamrer © dlviel Ulawmlel sical 3omr fafsdl @l asdasee @) woamw 3w sm=ura
® oo AIAIARYl Bl GRadT 31U Dl AGe A drd o felae |

6 avq fafdeer aen 27 oliesBa © dxia  &d fafdaa © fdo- oo wmee o1 geiar
®T 7E ¢ |31 Werell B oAl qaIse |

7 3meifeid 2ge1 9 31 uftader sme fao g wed ¢ |afdew 3uier 3 316l diel 3umeoll
@ oA d 3id Il ddSe |

8 oflaet & wfeesal 3met ur oft g1 3MUa @AsR ®) wdfcla ®A =g "D &7
3cI Bl lel UT 31U %ael &l d Uvdoel drd & !

9 JBICHI ged ® Silgel | wditld Slidd ®ee ufge | 3o 5l walell Ul u#Hae 311S
gl 3u® AR fofue |

10 JEleHl gafl & sitael & wafta gafas (Documentry film) efRae aen w6t ura

SileIbIRl ®f 8 & 10 ufaaen di fafae |
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Worksheet — 4

alfafafed — e 9 Ted ge smuel sl foa wfa o faefEa fow swer seara owa
ge e difsed aase |

Jeel 1 widd fagsilt & smare 1= 70 & 80 @l d sEpde fafde — (4x1=4)
clldsI3el ®I Usell faol —1 31¢f 2 3(91@ 3 ®RUT 4 @lfed a ol

uze 2 ®fdar arge afddfeiar d geer s ae fois o qus o faffe | (3x1=3)
ued 3 3UD ek A fAfdcarcr ger €| 9 Wk -raR &g fasmue dune

<iRe | (3x1=3)
et 4 ‘gwea f@en '(Distance Learning) @ fawer 3t <t forst @ e of

qadld @ 80 & 100 2ral & wag @ g 4 fAfdw | (4x1=4)
ueel 5 foe 9 A @1 80 & 100 vl 4 avfar aifse— (3x1=3)

yreel 6 fQu 9w widdl @ IR U 80 W 100 2l 9 ve oael foifde | (3x1=3)
foedl dictla A v ®3M.........adl e d Q &l BT TEell......... distt & dfa fasar @

glell.........3Tcleld Uh faol a8l d AGIIE BI 316 ......... AV D Sllel 7...... DGE
@I gel @l HAlcdell......... &l W BYE Bl 3IAME ......... 31416 YRl ®Tal Bl eAd.........
®BE I 35dl Gxd dliadicil Bl LMR......... ®YE Bl Jcelied Elell......... I @I

gaal...... | feled...
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Subject: Mathematics

Instructions — Do all the worksheets in Math notebook

Worksheet-1

I Choose the correct option: (1x5=5)
Q1. Which of the following is the reciprocal of the reciprocal of a rational number?
a) -1 b) 1 c)0 d) The number itself
Q2. Which of the following is the product of (-7/8) and 4/21?
a) -1/6 b) 12 c) -63/16 d) -16/147
Q3. What should be subtracted from -5/4 to get -1?
a) -1/4 b) 1/4 c) 1 d) -3/4

Q4. Write down the rational number whose numerator is (-3) x 4, and whose denominator is
(34 -23) x (7-4)

a) -7/34 b) -7/33 c) -12/33 d) 12/33
Q5. Which of the following does not lie between 0 and -1?
a) -1/2 b) -1/4 c) -213 d) - 4/3
Q6. Simplify the following: (3)
0] 5/7 x (-3/4) (if) (-1/10) + (-8/5) iii) (-8/19) + (-4/57)

Q7. Arrange the following rational numbers in ascending order and find the difference
between the least and the greatest rational number : (2)
-19/40 , 14/8 , -17/10 , 34/16 , 18/40, -11/80
Q8. A cake is cut into an equal number of pieces. Alam, Binny, Chirag and Debu take pieces of the

cake. Alam has % of the cake. Binny has % of the cake. Chirag has % of the cake. Debu now takes

one third of the remainder. This leaves two pieces. How many pieces was the cake cut into? (3)

Q9. Maintain the record of at least two books which you read during summer vacations as follows:
(3x2=6)
Name of the book-

Total no. of pages in the book —
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(for example if no. of pages are 100 , we will maintain record as shown below)

Fraction of the

Date No. of pages read | Fraction of the Simplest form of
book read fraction book left to read
01.06.20 15 15/100 3/20 17/20
03.06.20 10 10/100 1/10 17/20- 1/10
=15/20 = %
Q10. Eighteen rational numbers are multiplied. What will be the sign of the
Product? Explain with an example and write your observation. 3

) 15 of them are negative and 3 are positive.

i) 9 of them are positive and the remaining are negative.

iii) All are negative.
Q11. Plant a stick in a pot and measure the length of its shadow every three hours (8 PM ,11PM
and 2 PM) for three days. Find the ratio of the height of the stick to its shadow. Write down your

observations in a tabular form as follows: (5)
Original height of the stick -

Day 8PM Ratio of 11PM Ratio of 2PM Ratio of
height of height of height of the
the stick to the stick to stick to its
its shadow its shadow shadow

Dayl

Day 2

Day 3

How do the shadows change during the different hours of the days?
Q12. If you walk g kms from a place P, Eastwards and then from there
12 kms towards the West. Where will you be from P? Represent on number line choosing scale

(1km=3cm). 3
Q13. Prepare a magic square of 3x3 for rational numbers.(i.e. sum of rational numbers in rows,

columns and diagonals are same) )
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Q14. The Way Home: (4)
Note: Negative distance means distance in opposite direction.
1. Rohan wants to drop an old lady home. Find the distance that he will have to cover.

2. What value do you learn from Rohan?

—km >
: ﬁ Home
e - ]
%km
Ekm
5
6km
Please
help me to
_ka go home.
3 Ekm
2 ob
—lkm @
2
Q15. Find 10 rational numbers between —i and — § 3
Worksheet-2
Q(1-5) Choose the correct option: (1x5)
QL. If x/2+5/3=-1/2,then x =
(@) -13/3 (b) -3/13 (c) 13/3 (d) 3/13
Q2. Sum of two numbers is 84. One of the numbers is 20 more than the other. The smaller
number is :
(@12 (b) 22 (c) 32 (d) 42
Q3. If the sum of three consecutive multiple of 9 is 81.The smallest number will be .
a) 9 b)18 )27 d) 36
Q4 . The value of x for which the expression 3x-4 and 2x+1 become equal is
a) -3 b) 0 c)5 d) 1
Q5. If 9 is subtracted from the product of p and 4 ,the result is 11,then value of p
will be
a) 6 b) 5 c)-5 d) 10
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Q6. If 3/5 th of a number is 4 more than 1/2 the number, then what is the number? (2)
Q7. Simplify and solve the following equation for the given variable.
10p-Bp-4)=4(p+1)+9 2
Q8. Form the equation and find the value of the number: (2
a) Five times of a number added to 4 is 29 .
b) 7 subtracted from three times of a number is 23.
Q9. The sum of % 156 is distributed among X, Y and Z such that Y gets ¥ 36 more than Z, X get as

much as Z .What is the Y’s share? 2
Q10 . Solve the equation: 3
LRI B () (Y L S
2121242
Q11. Solve the following equation and check your answer: 3

ekalG, SRR
2x+2 4dx4+4

Q12. Joy left half of her property to her daughter, one third to her son and donated the rest to an
educational institute. If the donation was worth. 1,00,000, how much money did Joy have? (3)
Q13. Using only 2,5,10,25 and 50 paise coins, what will be the minimum number of coins required
to pay exactly 78 paise and 69 paise to two different persons ? 3)
Q14. a) Collect the information about ages of five persons around you in different age groups. And
form an equation expressing your age in terms of their age. (e.g. your uncle’s age = 34 years your
age 14 years i.e. your age is 3 less than half of your uncle’s age) (5)

b) Measure the dimensions of five rectangular objects from your surroundings, and express the

breadth of each object in terms of its length. 5)
Q15. Hide and Seek (5)
From the table, choose any one item from each column to form an equation and
solve it. Form at least 5 equations, mark them with different shapes or colours. One example is

done for you. The items chosen are encircled in the table.
Equation: —18a+ (-3/5)=21
Solution of equation: —18a =21 + (3/5) = 108/5
a = (108/5) x (1/-18) = -108/90 = —6/5

18




=21 X X 6 - 3/f2
17 P = = 62
22 r + 1 = -2/3
65 S = 12 = 1

Worksheet-3

Q(1-5) Choose the correct option: (1x5)
Q1. Which of the following numbers would have the digit 6 in the unit place?
(a) 192 (b) 242 (¢) 252 (d) 132
Q2. How many natural numbers lie between 192 and 202?
(a) 40 (b) 39 (c) 38 (d) 36
Q3. 25 can be expressed as the sum of first consecutive odd numbers.
(@5 (b) 4 (c) 6 (d)3

Q4.

Q5.

Q6.

Q7.

Q8.
Qo.

What will be the value of x in Pythagorean triplet (6,8, x)?
(@5 (b) 7 (c)10 (d) 11

By which smallest number must 48 be divided so as to make it a perfect square?
(@2 (b) 3 (c) 6 (d) 4

Find the square root of the following using prime factorization method and division method.
Also write which method you found better and easier: (2+2+1)

a) 5929 b) 9604
Find the smallest square number that is divisible by each of the number 4,9 and10? (2)
Solve : V100 + V625 — V144 (2)
What will be the number of digits in the square root of a) 25600 b) 1681 ?(write method also)

)

Q10. 9216 plants are to be planted in a garden in such a way that each row contains as many plants

as the number of rows. Find the number of rows and the number of plants in each row.  (2)
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Q11. What is the length of the side and perimeter of a square whose area is 441 cm?? (3)

Q12. Draw a mathematical grid of 30 x 30 using MS Word .Shade the square numbers and observe
the pattern. Also learn squares from 1-30. (5)

Q13. Activity : To show square of numbers on a graph paper. (5)

Take a graph paper. Draw squares on it with sides 1 cm, 2 cm, 4 cm, 5 cm and 7cm. Now count the
number of squares in each square and write the observation.

Q14. Observe the given number pattern and complete the next three steps. 5)

1st 132 =169

2nd 1032 = 10609

3rd 10032 = 1006009

4th ;

5th

6th

Further write similar patterns (any two) involving squares of a number.

Q15. Difference between the squares of two consecutive natural numbers is equal to their sum.
Generalize the property and verify with the help of examples. 4
Worksheet-4

Q1. State whether the following are True/False: (0.5x4=2)
a) Rational numbers are not closed under division, if zero is excluded, then the collection
of all other rational numbers is closed under division.
b) For any rational number a, a + 0 is not defined.
c) A rational number c/d is called the multiplicative inverse of another rational number a/b
if a/bxc/d=1.
d) A number which can be written in the form p/q , where p and g are integers and q is not

equal to O is called a rational number.

Q (2-5) Choose the correct option: (1x4=4)
Q2. The value of x for which the expression 3x-4 and 2x+1 become equal is .
a) -3 b) 0 c)5 d)1

Q3. The digit in the tens place of a two digit number is 3 more than the digit in the units place . let

the digit at units place be b . Then the number is

a) 11b+30 b) 10 b+ 30 c) 11b+ 3 d)10b+3
2x-3 _ 1 _
Q4. If T 3 , then x =
a) 7 b) 8 c)5 d) -6
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Q5. Which is the greatest 4-digit perfect square?

(@) 9999 (b) 9990 (c) 9800 (d) 9801
Q6. Simplify:(v081 + 0.81 + 1/0.0081) X V10000 2)
Q7. Solve the equation and check your answer: %x —2=5- 3?’( )

Q8.Two equal sides of a triangle are each 4 m less than three times the third side.
Find the dimensions of the triangle, if its perimeter is 55 m. 3
Q9. A sum of 2,700 is to be given in the form of 63 prizes. If the prize is either X 100 or

% 25, find the number of prizes of each type. 3
Q10. Name the property that is reflected in the following expression: 2
a) 5/11x 11/5=1

b) 24/10 x 5/6 =5/6 x 24/10

c) 5+ (-5=0
d) 99 x 58 =100x58—-1x58
Q10. Find the sum of the following using suitable property: 4)

(i) 4/3 + 3/5 + (-2/3) + (-11/5)
(i) (-8/3) + (-1/4) + (-11/6) + 3/8
Q11. Represent the following rational numbers on a number line : (@)

7 -2 5 -4

84 '2 "16

Q12. If we represent the distance towards North with a positive rational number, the distance
towards South as a negative rational number and if the speed of ‘A’ is 5/2 m per second. Draw the

figure and find the distance from the origin when (4)
a) ‘A’ travels towards the South for 20 seconds.
b) ‘A’ travels towards the South for 14 seconds and then towards the North for 20 seconds.

Q13. Measure the length and breadth of three rectangular or square objects at your home (e.g. table

top , notebook) and find whether the product of length and breadth is a perfect square or not.

Write your observations in a tabular form. (5)
Name of the Length Breadth Area Perfect square or
object not
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Q14. Mathoart: (5x2)
a) Make a beautiful poster depicting two mathematical tricks to make calculation easier.

b) Make three 3-D solid using paper folding (eg: cube, cuboid, cylinder, cone, pyramid)

Q15. Note down your admission number. Take x times of last digit of your admission number (4)

and add number of family members to it. Put it equal to your age and solve the equation for x.

Subject: Science

Objectives:
e To ensure revision of concepts

e To develop skills to carry out research and develop scientific aptitude
e To encourage learning through experiences

General Instructions:

e Attempt the questions keeping in mind the weightage of each question.
(1) Answer the 1mark questions in 5-10 words.
(2) Answer the 2 marks questions in 10-20 words.
(3) Answer the 3 marks questions in 20-30 words.
e Attempt your worksheets and activities in your science notebook and mail the scanned copy
of the notebook to the respective teacher.
Week |
Activity:
Take a picture of yourself while doing the activity and mail it as a pdf with your name to the subject
teacher.
Follow the steps given below to perform the activity and answer the questions:
1. Fill a plastic cup with water.
2. Place a piece of thick cardboard over the top of the cup.
3. While pushing down on the cardboard, gently flip the cup.

4. Slowly move your hand away.
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Q1. What did you observe?

Q2. Why do you think this happened?

Q3. List two more instances from your everyday life where you can observe same
phenomena.

Worksheet 1

Physics
QL. Before drinking coke/ pepsi, you unseal the bottle.

a) What do you observe?
b) What will happen to the drink if it is left unsealed for a long duration? Why? (2)
Q2. While playing football match/ participating in races/ playing basketball match you generally

carry a pair of special shoes. Why do you need special shoes while playing? Will it be

different if you do not wear those shoes while playing? Why? (2)
Q3. While going on a trip with your parents, you pack your belongings in big suitcases. These

suitcases have either 2 or 4 wheels. How many wheels are preferable? Why? (2
Chemistry

QL. In the 4th chapter of Science, your teacher discussed and explained the different
properties of metals. On the basis of the learning name the following: (0.5x4=2)
a) A metal which is preserved in kerosene.
b) A metal which can melt while kept on the palm.
¢) A metal which is a poor conductor of heat.
d) A metal which is the best conductor of electricity.
Q2. Your younger cousin has toys made of thermoplastics whereas the plastics used for
making electric switches and handles are thermosetting plastics. Write the major difference
between these two types of plastics.(Write two points of difference). 2
Q3. Your father went to the market and bought a bucket made of plastic and not a bucket
made of iron. Why? 2
Q4. You noticed that the house help who cooks food had worn a synthetic sari. Your mother told
her that it was not safe to wear synthetic clothes while working in the kitchen.
a) Do you think the house help should pay heed to your mother’s advice? Why?
b) What property of the material makes the sari unsafe? 2
Biology
QL. It is a common sight in school to see the football ground being watered using rotating

nozzles. A similar method is used for agriculture.

a) What is the method called? @)
b) What are the advantages of this modern method of irrigation over traditional
methods? 1)
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Q2. Many human dwellings (villages and towns) have reported the destruction of property and

loss of life (human beings, poultry, cattles etc.) by wild animals. What are the reasons

behind it? 2
Q3. What measures have been taken by the Government of India to protect wildlife? (2)
Week 11
Activity:

Take a picture of yourself while doing the activity and mail it with your name to the
subject teacher.

Follow the steps given below to perform the activity and answer the questions:
1. Select a rolling object (like a ball).
2. With the same force, allow the object to roll on different surfaces.

3. Use a scale or an inch tape to calculate the distance it has travelled on different surfaces.

S.No Surface Distance
1 Table Top
2 Towel spread on
floor
3 Carpet

Q1. What did you observe?
Q2. Why do you think this happened?
Worksheet 2

Physics
Q1. When you see your teachers carrying heavy notebooks you volunteer to help by carrying

them yourself. If the dimensions of the notebook are 15m x 20cm and they weigh 12N.

Calculate the pressure the notebooks will exert on your hands. (2
Q2. At some point, you would have used a hose pipe to water plants. While using this,

decrease the size of the opening with your forefinger: @)

a) What do you observe?
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b) Will there be any change in the length of the water stream if you remove that finger?
Why?
Q3. Fidget Spinners are used while playing with friends. 3
a) Which component of the spinner helps it to rotate?
b) Why does it rotate fast?
c¢) Find and name any other device in your home which uses the same component.
Chemistry
Q1. While an electrician was working on the wiring of your house,you noticed that the electric
wires are made of metal. (1x2=2)
a) Which metal is used to make an electric wire? Why?
b) Why does the wire have plastic coating?
Q2. Uncle Rafiq lives in Srinagar. What kind of material should he buy to make shirt- cotton
or synthetic? Why? 2
Q3. Lead of a pencil is made of graphite which is non-metal and the handle of a door is made of
iron, a metal. How will you differentiate between a nonmetal and metal on the basis of their
physical properties? (Give two points of difference) 2
Q4. Observe the given structures of plastics A and B and answer the questions that follow: (2)
A. B.
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a. Which of these represent thermosets?

b. Which will form heat-resistant materials?

¢. Which will melt on heating?

d. Which can be recycled?
Biology
QL. If you sow some black gram/ rajma in a pot, can it be called a crop? Justify your

answer. Q)

Q2. What are the major differences between kharif crops and rabi crops? @)
Q3. Make a paper bag using newspaper, scissors, glue and ribbon/thread. List any three

advantages to the environment for using a paper bag instead of a plastic bag. 3
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Week 111
Activity:
Take a picture of yourself while doing the activity and mail it with your name to the subject teacher.
Find a few pieces of nylon and cotton cloth from your house and perform the following activity.
Differentiate between them on the basis of

a. absorption of water when the pieces are dipped into two bowls with equal water
b. time taken to dry, and

c. strength of the fibre when you try to tear it

Fill in the observation table:

Type of Absorption of Water [Time Takento [Strength
fabric Dry (in secs)
Nylon
Cotton
Worksheet 3
Physics
Q1. While blowing a balloon for a birthday party, you blew too much air in the balloon.
What will happen to the balloon? Why? (1)

Q2. While walking in a mall, you would have noticed a caution sign wherever the floor is wet.
Why do you need to be cautious while walking on a wet floor? (2)

Q3. You would have watched an Inter house tug of war match in school. One team was able to
pull the rope in their direction. (2)

a) Name the force applied to play this game.

b) If the force applied by the winning team was 30 N and by the team which lost was 25N,
What was the net force?

Q4. There is a force exerted when you write in your notebook. Name the force:
a) which helps you to write.

b) which opposes the motion of your pen. (2)
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Chemistry
QL. You noticed that an iron chair has got some reddish brown colour on it. What are such

patches of colour called and why do they appear? 2
Q2. Despite being very useful, you often come across advertisements in TV or newspapers to
restrict the use of plastics. Why is it so? Suggest some methods to limit its
consumption. )
Q3. Prepare a circuit (as shown in the figure) by connecting the two free ends of the copper wire
to the objects(iron nail, sulphur, coal piece, aluminium wire) , one by one. Note the
observation in the tabular form and classify them as good conductors or as bad

conductors. (3

Biology

QL. Our school won the prestigious Green School award during the year 2019-20. Mention any
two eco-friendly methods adopted by our school to receive this recognition. 1)

Q2. Which is the alternative and inexhaustible source of energy used in our school to reduce
the consumption of electrical energy? 2

Q3. Watch the movie “The Jungle Book™ and write down the names of any 10 animals that

you like. What is the role of National parks in conserving wildlife? (2
Week IV
Activity:

Take a picture of yourself while doing the activity and mail it with your name to the subject teacher.
Topic: Effects of Deforestation

Objective: Follow the steps given below to perform an activity to observe how plants affect soil

erosion.
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a. Prepare a set of three bottles by cutting a rectangular part (roughly 7cm x 25cm) along the
length of a two litre PET bottle as shown in the figure. Label them as A, B and C
respectively.

b. Put the same soil in each of them.

In container A- grow plants (you can sow any cereal seed)
In container B- put dry leaves over the soil.
In container C- just the soil.

c. Take another set of three empty PET bottles and cut them horizontally into two halves.
Retain the bottom halves.

d. Make two small holes opposite to each other in the bottom halves of the bottles, as shown
in the figure.
e. Cut a piece of a string, roughly 25cm long and insert each end into the holes. Tie a
knot on the ends to secure them. This will form a “bucket” to collect the water.
f. Hang them over the necks of each of the three bottles (bottle A, B and C) on the board.
g. Pour water in each container (bottle A, B and C).
Answer the following questions:
a) Is the water collected from each container different?
b) Which container will have the maximum amount of soil dissolved in water? Give
reason.
c) Which container will have the minimum amount of soil dissolved in water? Give reason.
Part 11: Take out the plants from container A. Observe the roots and answer the following
questions:
a) Did you see soil particles sticking to the roots?
b) Can you tell how sticking of the soil particles to the roots helps the plant?
c) Name this process in which the top soil gets removed.

d) Can cutting of trees lead to soil erosion?

Worksheet 4
Physics
Q1. You must have noticed when the doors creak, your parents oil them. Why do you think they
oil the hinges? (1)

Q2. While playing badminton you apply force on the shuttlecock using your racket. What is the
effect of the force applied on a shuttlecock? @)
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Q3. We use different footwear for different occasions like: )

e,
b
' e

Cowboy Boots Ugg Boots Gladiator Boots

a) Which one do you think will apply maximum pressure on the ground and why?
b) Let the weight of the person wearing these footwear be 400 N with surface area of
40 m?, 50m?and 20m? touching the ground. Calculate the pressure in all the three
cases.
Chemistry
QL. Rope that is used by mountaineers is made of a different material than the usual jute rope.
Can you name the material used for making this rope and write three of its properties. Why
do you think it is used instead of jute? (1)
Q2. In your school, you have noticed that students always wear white cotton lab coats while
attending their chemistry practical classes. Why is it advised to wear cotton clothes
while working in a laboratory? Q
Q3. You are given hammer, a battery, a bulb, wires and switch 2
a) How could you use them to distinguish between samples of metals and non-metals?
b) Assess the usefulness of these tests to distinguish between metals and nonmetals.
Biology
QL. Look around your house and list 5-6 things which are produced from the forest
(plant products). Suggest two measures that can be followed to reduce over exploitation
of forests. (2)
Q2. What are the advantages of manure over chemical fertilizers? @
Q3. Plan the segregation of waste in your house. Ask your parents to help you in listing down the
waste produced in the house and segregate it into two categories. Using the biodegradable
waste, prepare compost in a pot. Take pictures of every step and record your
observations in your biology notebook.
Steps involved:
A. Collection of waste
B. Segregation of waste
C. Preparation of compost in a pot (follow the given steps)
e Take a container (earthen pot/used bucket/ 5 litre Bisleri bottle- cut the top of the bottle. to

make it look like a pot) make holes at the bottom for drainage and aeration.
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Put a layer of coconut husk, 2 cm thick to prevent the loss of moisture.

Cover with a layer of soil about 3-4 cm thick.

Put green waste from the kitchen (fruit peel/vegetable peel/ used tea leaves- wash them
thoroughly before putting it in the pot) on the first day.

On the next day, put a layer of dry leaves/twigs/eggshells etc. around 2 cm thick and cover
it with 1 cm thick layer of soil.

Add jaggery solution (50gm jaggery in 1 litre water) to enhance the rate of decomposition.
Repeat step 4 followed by step 5 for three weeks. Stir the contents once a week to ensure
proper aeration.

Keep the pot covered with 4-5 layers of newspaper to retain moisture.

The compost will be ready in 6 weeks.

Keep a dish under the pot to collect the excess water that will be released due to
decomposition (which is also used as manure). (3)

Subject: Social Science

Worksheet-1

Answer the following questions:

QL.
Q2.
Q3.
Q4.
Q5.

Q6.

Q7.

Q8.
Q9.

Why do you think the British preserved official documents?
Why was India considered the most valuable British colony?
What awareness can you create against female foeticide and how?

Mention any four positive impacts that COVID-19 has had on the environment.

W N N NN

Why is the term ‘modern age’ as given by the British historians not applicable to India?

A Constitution is required for running a government. Support this statement with relevant
points. 3

Though the Dowry Prohibition Act was passed in 1961, it is practiced in many parts of

India. List any three disadvantages of the Dowry System in India. 3
How can the gift of nature become a resource? Explain with an example. 3
Project work 5

Prepare a PPT on the sustainable management of the natural resources and it’s
conservation. Find out what type of natural resources (plants, animals, rocks, and fossil
fuels) are used to make the objects we use in our everyday life. Where their trash goes when
it is thrown away, and how this affects the Earth.

Hints: Your PPT should be able to answer the following questions in detail.
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» What are the natural resources that humans throw in the trash the most?

» Which resources do they use the most?

» Why is it important to conserve natural resources?

» What would happen to the earth if we used more resources than it could make?

» How can we conserve natural resources in our daily lives?

Guidelines for the Project Work:

1. PPT should not be more than 20 slides.
2. Use simple slides

3. Use plenty of visuals.

4. Keep things simple and to the point.

5. Include graphics/pictures/flowcharts etc.

Worksheet-2

Answer the following questions:

Q1.
Q2.
Q3.

Q4.
Q5.

Q6.

Q7.
Q8.

Qo.

Why did the English East India Company want a puppet ruler? 2
The ‘Battle of Plassey’ is an important landmark in the history of India. Comment. 2
Why do people defy law? Explain with the help of an example that people can oppose

unjust laws. 2

Why is land considered an important resource? 2

“The people of Bengal suffered immensely under the Dual or Double Government.” Explain

the system with special reference to Bengal. 3

“People will understand the value of rights only if they are under the obligation of
performing duties”. In the light of this statement list three fundamental duties. 3

Why is conservation of resources necessary? List any four methods of soil conservation. 3

Define land use. Explain any four factors that affect land use pattern of India. (1+2=3)

Map Activity 5
On the Political map of India, mark and colour the following:

(). Two territories where Permanent Settlement was introduced.
(i1). Two territories where Mahalwari system was introduced.

(iii). One territory where Ryotwari system was introduced.
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Worksheet-3

Answer the following questions:

QL.
Q2.
Q3.
Q4.

Q5.

(ii).
Q6.
Q7.

Q8.
Qo.

Why did the companies prefer the coast to set up their trading centres? 2
Which two important people betrayed Siraj-ud-Daulah and Why? 2
Why are amendments made in our Constitution? 2

What are the possible reasons behind the uneven distribution of population around the
world? 2

Look at following picture and answer the questions that follow. (1+2)

Identify the above person.
How did he acquire territories in India?
“Right to freedom is a cluster of various rights”. Explain. 3

Name two nutrients that alluvial soil is deficient in. Briefly write how fertility of soil

affected distribution of population? (1+2=3)
Why do you think the use of resources should be sustainable? 3
Activity 5

Write at least five rules to tackle the Covid-19 in your home. Also mention how you will
implement them.

Hint: Surf the net about the condition in your area. Find out in which zone does it fall-Red,
Orange or Green. There will be different rules for each zone.

Worksheet-4

Answer the following questions:

QL.

Q2.
Q3.
Q4.
Q5.

Why was the system of giving the revenue collection rights to the highest bidder not
advantageous to the British?
Why were trading centres called factories?

Why are ‘Directive Principles of State Policy’ an important part of the Constitution?

N NN

How is black soil formed?

“Indians faced discrimination in every sphere of the administrative service under the
British rule”. Justify the statement. 3
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Q6. What is federalism? How does it work in India? 3

Q7.  Give three points of difference between Red soil and Laterite soil. 3
Q8.  Explain how human activities have caused land degradation. 3
Q9. Map Activity 5

On a Political map of India, mark and colour the following:
(). Two states that were occupied by means of Subsidiary Alliance.

(ii). Three states that were occupied by means of Doctrine of Lapse.

Subject- Sanskrit
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Subject: Art Education

Week 1- Recreating the magic of Harry Potter.

Most of you have read or watched Harry Potter and have been enamoured by the magical
props that are used. Use reused material and other scraps to create any one of the
following: wands/ owls/ hats. Look for videos on what techniques can be used.

Week 2- Mask Making

Make a mask to observe the safety norms using your stitching skills. You can use any
cloth that is available at home. You may choose to use this YouTube link for reference:
LINK : <https://www.youtube.com/watch?v=p2Lwyw2tOng>

Week 3- Reach for the Sky

Make a Sky Line for any city on A4 Sheet.

Use a black gel pen to draw and shade. Here are a few pictures that you could use for
reference.

i w—

Week 4- Recreating a Painting

Choose a painting that you like and recreate it in real life. Paste these two side by side and
write a paragraph on why you chose this particular painting.
Here’s an example to get you started:-
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https://www.youtube.com/watch?v=p2Lwyw2tOng

Subject: Computer Science

Lesson 2 — Writing Programs in Python

1.

a)
b)

)
d)

e)
f)

9)

h)

b)

d)

Find the output of the following:-
print (23//2)

print (3*1**2)

print (17%5)

print (7-8+2*4)

print (“Artificial” + “Intelligence”)
a=145672

b=36743

b+=a

print(b)

c=534

c*=42

print(c)

x=9 ;y="9’

print(x==y)

1*8=8

Find the error in the following python codes (if any) and rewrite the correct code:-

Y=12+24+10+
5+7+20
print(Y)

b=25 h=40.5
a=0.5*b*h

print a

age=(‘Enter the value of age’)
if (age>=18)

print(You are eligible for voting)

nl,n2=3,4
print(n1*n3)

41

1*4=4




3. Write the Python programs for the following where the input will be asked by the
user: 2*4=8

a) Program to convert the time in hours to seconds.

b) Program to convert Celsius into Fahrenheit. (f=(c*9/5)+32).

¢) Program to find the cost of 75 LED bulbs if the cost of one LED bulb is Rs 50.50.

d) Program to find the surface area of hemisphere.(s=2*pi*r*r) , where value of pi is 3.14.

Project Based Question

1. Create a presentation of minimum five slides using SWAY (Office 365) on the topic
“Synthetic Fibres and Plastics”.

Follow the sequence of the slide as per the instruction given below.

e Sources of synthetic fibres and plastics.
e Any four types of synthetic fibre.
e Nylon......... a fully synthetic fibre.
e Examples of thermoplastics and thermosetting plastics in daily life.
e Impact of synthetic fibres on environment.
2. Create a quiz of minimum five questions mentioned below using FORMS in Office
365.
Question 1

Q 10 - Which is the special symbol used in python to add comments?

A$

B./I

C.I*..*

D.#

Question 2

Which is invalid in python forz=5?
A.z=2z++

B.z=++z

Cz+=1

D.z-=1
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Question 3

Which of the following is a correct variable name?
A.-1ABC

B. #IF

C. 123X

D.Y 12

Question 4

The python programs are saved with the extension............ .
A. .html

B. .py

C. .docx

D. .pptx

Question 5

What does IDLE stands for?

A. Integrated Development

B. Integrated Learning

C. Integration and Learning

D. Integrated Development and Learning Environment

Follow the following steps to upload the HOMEWORK in Microsoft Teams.

- Login to portal.office.com

- Sign in with your username and password.

- Click on FORMS to create your quiz.

- Click on Share option and copy the link.

- Go to TEAMS and select your Class group.

- Click on General Tab and choose the POST option.
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